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: 5. Each question has four alternative responses marked serially

as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A Wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
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with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
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10. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently

from all future examinations.
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fr=ferRaa wiRerar =9c wed f For the following pro?abili;y denzity
; . @B +2)18, 2<x<
) = { (g +2x)/18, ’;i;;; 4 { function f(x) = { 0 N -
FRUPQ <x<3)HUAE § then P2 <x <3)is
(1) 1 |- did
4 E 2) E
(2) 5 | 9
35 % 3 é
(3) 9 i (3) 9
| 1
— 4) —
“4) 5 “4) >
2. g =R X % fore wifieedr e & 2. For the following  probability
S53 3 6 9 distribution of random variable X
P(X =x) 1 1 1 X =3 6 9
s — — P(X=x): 1 1 i
2 3 6 2 3

& fou B(X2) 1A 2

0 (3)
( 2

the value of E(X?) is

2
11
M [?)

1
®) PlIX-p|<sc}zl-—

G) PIX-pl<co}21-— -

€

(4) I gaft (4) All of these

93
@ @ 3;
= 11 11
< g O
65
@ — o &
4 | ) 1
3. IR X U Frgfemes =R R sew f If X be a random variable with finite
o2 gt B oM E(X) = p 8, 7 et ot | variance 62 and E(X) = u, then for any
e>0% fou = § & =9 @1 wilkesar | &> 0 which of the following probability
i It is true ?
 — 9 i resu
o 1 | (1) P{X |>85}<—1—
(M) PIX-nl>c0}s— | HiEReE 2
o’ | 2 PUX-p|>e) <o
) P{|X—p1ze}58_2 i (2) P{| —ul_s}_g—2
i
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afe wh gl =X X %1 el S

HeH &
Mx(t)=é(3+et)3,—oo<t<oo

Al X & JE0 1 9 8
3
(1) 7

3
@ =
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16

9
4y =
()8

._.
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3)

afe wh agfns = X % feen-
B &
it

¢)}{(t): ei_ts.: '\/j_f
qs X 1 S50 3

1
15 <
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Ay el
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Ife T @@l = X 39 YR hI 2 T
P(X =1)=P(X =2),dl P(X = 4) &
1=I'|T{@TIT:
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If Moment Generating function of a
random variable X is given by

1
M, (t)= — 3 +e")3, —o<t<wm,
x(® 64( )
then the variance of X is

3
) %

)

o 5w

3)

[u—
jo))

4

oo | o

If characteristic function of a random
variable X is
it

¢x(t)=ei—t,i=\/-—_l

then variance of X is

1
) T

)

©)

W= | =

1

“) ‘JTE

If a Poisson variate X is such that
P(X=1)=P(X=2),then P(X=4)is:

(1) Ze
3

2) %6_2

o 2o
(3) Ee
4) %63
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7.

Ife X e I sed w1 = 2 fEs
1

T f(x) = 4
0

y=sinxﬁ-‘-ﬁﬂ§l‘lﬁ?ﬁﬁﬂqﬁw

g(y) T A &A1 :
1

(1) ——

41—y

() 41—y

1 _ %l

3) Z(l ¥)
4

1(1—}12

oIS feue g wi fm @ fawm
T S Gl §

(1) Toue =

(2) @TEl §eA

(3) STt §eA

(4) B3R SATfHfces s

qﬁ“Zstza?ha

4

Ife X ~ N(u, 62), T IHehT ==l b
G 8

| 1
D ut+ —t2c2+ —t3cd + ...
() p 5 2

I 5 1
2) ut- —t2c?+ —t202 - ...
@) u > 3
(3) [.Lt—%tzcz

(4) pt+ %@02

frferfaa o S5 =7 U W B S =
! §H: Icq~ TE HT 8 ?

(1) TImET &

(2) TE s

o

10.
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[f X has a rectangular distribution

1

- if-2<x<
with f(x) ={ g f-2<x<2
0 otherwise
p.d.f. g(y) of a variable y =sin x is :

1
(1 S
44/1-y

401 -y%)
1 5
Z(] )

4

hen

()
3)

(4)

L=

Negative binomial distribution may be
regarded as generalisation of :

(1) Binomial distribution

(2) Poisson distribution

(3) Geometric distribution

(4) Hypergeometric distribution

If X ~ N(u, o?), then its cumulant
generating function is given by

1 1
1) ut+ —t202+ —t3c> + ...
(1) ¢ 5 5

1, 1
2) ut— —t262+ —t2c? ..
(2) u > 3

1
3) ut——ticg?
Q) W=
) ut+-‘2—t20'3

The distribution that does not possess
the property of reproduction in the
following :-

(1) Gamma distribution
(2) Poisson distribution
(3) Normal distribution
(4) Negative binomial distribution
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11.

12.

13.

14.
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24

e S s e v 4 2,

I AT Hegit Smeet g
1) 16
(2) 64
(3) 80
(4) 48

G aef e s ol fmda s o
a2 7

(1) =1 =nifegen

(2) TITEHT = Tgeih

(3) HIYA = ageS

(4) HIET = HIfEHeT = ageish

2
M X ~N(0, 1) 7 Y ~ X o1 e
n

X .
W@,a‘r—ﬁwmm

(1) <hIsft &1 s
(2) TR T t—seq
(3) RS H t-FeA
(4) TEE S

n =2 WA= Hite & fu HE- g
(1) J9™H= sed

(2) fgugsea

(3) hISi T e

(4) =TETarEh! "2

a1 N, 62),i=1,2, .....
=B a1 399 T HE—-a 5 h e
T JEOT ShHYT: B

(1) (n,2n)

2) @—-1,n~2)

(3) (2n, n)

4) (n—1,n)
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12.

13

14.

15.

(#)Woire

If the variance of normal distribution
1s 4, its fourth central moment will be

(1) 16
2) 64
3) 80
(4) 48

For a Cauchy distribution which one
of the following is true ?

(1) Mean = Median

(2) Median = Mode

(3) Mean = Mode

(4) Mean = Median = Mode

2

If X ~ N(@,) and Y ~ . , the
n

C . X
distribution of the variate — follows :

JY
(1) Cauchy’s distribution
(2) Fisher’s t-distribution
(3) Student’s t-distribution
(4) Normal distribution

For n = 2 d.f. the
distribution converts into :

Chi-square

(1) Normal distribution
(2) Binomial distribution
(3) Cauchy’s distribution

(4) Exponential distribution

If X, X,, ooy X, are iid. N(u;, 6,2);

i =1, 2, ...., n then the mean and
variance of corresponding Chi-square
distribution are respectively.

(1) (n,2n)

2) (n-1,n-2)
(3) (2n,n)

4) (n-1,n)

indiresult.in whatsapp - 9352018749 o

c

PAR

T

THER



indiresult.in whatsapp - 9352018749

16.

17,

18.

&

n 3THR 3 ufeest & Ty me p % foe
95% Tergerearan dimmd &l -

_ S
(1) xtys ><$
” ol
(2) xit0.0S X*JI-]

S
(B) xx3tys XT‘;

S
(4) T+1.96 05 % 7

F-§ %1 56 BIaT &

(1) 3Teafires FEuMesh (Swem are
(2) Ed HH A [eHdT arel
(3) et geTeHes fersar aren
(4) Teraman e

afy X, ~ N, 1), i = 1,2, 3 &

Trgfess e, @ U= Xlz/(X§+X§)
1 TRl 524 2

M B, [%%J
@) ﬁ,[%%]
1

@ F(1,2)

(n — 1) TEEa HIE I -5

FH T (B, = p/up) B
(1) 3(n—3)(n-6),n>06
(2) 3n-3)(n-5),n>5
(3) 3(n-2)(n-4),n>4
4) 3(n-3)/(n—4),n>4
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17.

18.

19.
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95% confidence limits for p (Sample
size n) are given by :

_ S
(1) ¥+ t05 " 1
2

e G~
(2) x*10s ™ q_;
s B

S
(4) £ 196405 %

The curve of F-distribution is :
(1) Highly negatively skewed
(2) Slightly negatively skewed
(3) Highly positively skewed
(4) Not skewed

If X, ~N@©, 1), i=1, 2, 3 are
independent random variables, then
the probability distribution of

U=X;2/(X§+X§)is:
11

(1) B, [5‘2']
11

2) B [EE]

® b[L1)

@) Fq,

. 2
The co-efficient of Kurtosis (B, = Hy/H> )
of t-distribution with (n — 1) degrees of
freedom is
(1) 3(n—3)(n—6),n>6
2) 3(m-3)/(n-5),n>5
(3) 3(n-2)/(n—4),n>4
4) 3(n—3)/(n—4),n>4

I [-.Jib—-

)
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20.

21,

22.

# o

%

D

QAGTH WK A Y HRICU=(x—ayh,
v=(y—b)/v 5@ a, b, h, v 2R & qur
h#v,h>0,v>0%lﬁa83ﬁéﬂﬂuﬁ$}(
IY (P )IUTV/(P,) SeEHaT R :
(1) P, =P,

@) B,==P,

3) P =hvP,

(4) P,=|hv|P,

a1 3 sl Y e g e
(1) By =By,

(2) By By=1

(3) By <By,

@) By =By

Ffg x & avft ot @l 2 @ fawrfia =
fean St @er y < wft 7l 6 2 | en
Y feam ST Al T2 et o b,
WW@TH:

(1) by, ST

(2) by, TGO

(3) by, =IO

(4) by, 1 IS O

& 53 < eltore TEie 3x —4y +8=0
T 4x — 3y =1 & x TG y & 7T T&-
I T I

(1) +1

) -1

(3) 0.75

(4) —0.75

L
v
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20.

21.

22.

23.

(#)Woire

For two random variables X and Y,
U= (x-a)h, v=(y - b)/v, where a, b,
h & v are constants with h # v, h > 0,
v > 0, then the correlation co-efficients
between X and Y Py and Uand V/ (P )

are related by

() Po=Py

2 ny - Puv

(3) B=hwl,

@ B~ hiv|B,

If the two lines of regression are
perpendicular to each other, the

relation between the two regression
co-efficients is :

(1) By =By
(2) By Byy=1
(3) By <Py,
@) By =By,

If each value of x is divided by 2 and
of y is multiplied by 2, then b’ _ by
coded value is :

(1) Same as byx
(2) Twice of b),)r
(3) Four times of byx

(4) Eight times of bwr

Given the two lines of regression
3x—4y +8=0and 4x — 3y = 1. The
correlation co-efficient between x and
yis:

(13 1

(2) -1

(3) 0.75

4) —0.75
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25.

26.

27.

=i et farfy e W 8/

(1) e T v I dfed Bl E |

() g%ﬁméawméa@m%
rEreR! e Y TE TR Rt e
21

(3) Ffeat = W & T B g |

4) Jad

fas Fawet He fagase &1 ITFn
foparT <1 Gehat & 91

(1) ST G & |

(2) EE-SE FAE & |

(3) TE-wET 1 Hfgew SR & |
(4) A HIE TG

TETEEEE % D? T AR % T2 %
ey T B
(1) T2= MA3 2

n,+n2
) T2 = ny+nj D2
nny —1

3) T2 = 2nnyp
n;+np -2
200y 4.2
ng +1ny

(4) DZ -

% S GO S§ed W HE-wEl

Afem ¢ gl wife w1 A& B A

(1) 98 YEWE sl AE %k W b
JETHT S W SHITUWE B SR |

(2) 3EET TIREHAT T Her SHd TRl
2

(3) T8 VEEE St i W H
T S § FEIAYE & SR
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R
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25.

26.
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The basic assumptions in method of

least square is/are :

(1) errors  are identically
indepdently distributed.

(2) errors are normally distributed

with mean zero and constant

variance.

(3) errors are independent of the
value of the variable.

(4) All of these

and

Linear discriminant function analysis

can be used when :

(1) The variances are equal.

(2) The co-variances are equal.

(3) The covariances matrix is non-
singular.

(4) None of these

The relation between Mahalanobis
D2 and Hotelling’s T? is :

nn
(1) T2 = 1222 D2

n, +n,

@ =172 p?

nyn, —1
3) T2= 2nny

ny+n, —2
@) pr= 2Rz 2

n; +n,
The covariance matrix X of

multivariate normal distribution is not
of full rank, then :
(1) multivariate normal distribution is
degenerate one
(2) The probability density function
will not exist
multivariate normal distribution is
one and the

probability density function will

€)

degenerate

not exist
(4) None of these
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28. T FHTHI=T = T T S &I :
(1) 3MEvas €9 ¥ fgue yamm=y g7 2 |

28. The joint distribution of two normal
variates is distributed as :-
(1) necessarily  bivariate  normal

(2) 3TTewh 9 Y T, fgug 5 7 | distribution

R P (2) not necessarily bivariate normal
(3) SEAhT S E | distribution

(4) TITHT e BN | | (3) exponential distribution

‘ (4) Gamma distribution

29. Ffg S s wftrest yHwor-wg -y Afeag 29. If S is the sample variance - covariance

2 S T M= ser N(u, £) & = i matrrix which is used to estimate £ of a
TG H@T 2 @l A = (N — 1)S &1 N(u, =), then A = (N — 1)S follows
S B _____ distribution :-

(1) FE-a11 5 (1) Chi-square

(2) Mahalnobis D2
(3) Hotelling T2

(2) HEHIfsg D2 s
(3) Brefer T2 5

(4) femmé sea (4) Wishart
30. & "ok fawelwwr (PCA) &1 39 30. Principal component analysis is meant
feparm i & for :-
. ) (1) reducing number of observed
(1) Tacifehd =i hl T g & ford | ARl
(2) IElHa = < ST 9 M & ol | (2) increasing number of observed
G) W fomEEE TR SRR | |  variables .
) ; (3) reducing the correlation between
(4) =0 * o= TEr FEAG HEH % variables
o2 (4) to reduce the heterogeneity

among variables

31. = faveigur § g0 31899 id 8
(1) =0 % = gg-w (1) covariance between variables
(2) =0 & 9 gegEy
(3) =W & = gE-gwO IR T H

31. Factor analysis studies the :-

(2) correlation between variables

(3) covariance between variables and

:
] : . .
1 TegTy el E coT'relation between variables
@) A = ¥ i TR A g = E (4) neither  covariance between
| variables nor correlation between
. < o= wEE ; variables
.
}(:’0 !o ! .I ﬁtg‘ SULTE 9 indiresult.in whatsapp - 9352018749 =
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34.
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(1) Tufe i oo sHEdl S g,
Frod 1S 3% T T I™ AL TH I
31freR A AT AH |

(2) aufd < GHE TSl 1 T

(3) TAfE 6 wuE A A g,
Rrai 18 3 @ A1 9 3T A
31feres AT 31 T guiE hl gHE
Seh1SAT T AR QHI

4) s Ao off 7

Ife gufe N &1 3R @ wfagsl n &l
TR Wi ' 9 e & ar yiaew
T p o6 ST ST ST HIH &I ;

Pq
n

(1)

2)

3)

4 —

il wieerem § = % v e |

v 31fres =T B

(1) aTgufees formae, Jo st e
e Iaht & e ulgrgar ¢l |

(2) i & e, sngeiaes P 6
Irde I & e aftgrgar & |

(3) ATEfee glera, wfa gid=E
e S & arferes g ot |

(4) 3 A B @I

L ]
.
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32.

34.
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Sampling frame is defined as :-

e

List of all units of population with

no omission and duplication.
)
3)

Map of all the units of population
of all

population with no omission and

Both List units of

duplication and Map of all the
units of population
None of these

(4)

If the population size N as well as the
sample size n are sufficiently large
then the estimated value of the
variance of sample proportion p is :

(g =

the difference between

Stratum standard deviations provides :

Greater

(1) More is the gain in precision of
proportional ~ allocation  over
Nayman’s allocation.

More is the gain in precision of
Nayman’s allocation over
proportional allocation.

More is the gain in precision of
random sampling over stratified
sampling.

(4) None of these

()
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35. wruny gidfaed | frafafea # @ %9 | 350 In usual notation, which of the
|1 i Agfese e & f ad @ 2 following is true for stratified random

sampling ?
(1) V(yst)n <V(ystp

(1) V(Fstiy <V(Fst)p

(@) V(Fshp < V(ymses ) V(FsOp < VEn)srs

(3) V(%St)N < V@St)p < V(_;\'FI)SRS {

by gl (3) V(Fst)y < V(Fst)p < V(¥n)srs

(4) All of these

|
36. YT ! AT HE F o vl §36. For estimation of proportion in
T 79 U TREdH A B ; sampling we need to perform a

|

|

1 fe it - oy 5 transformation.
= { 0 3=l . - {1 if ith units possess the characteriscitcs
- . 3R R ; Yi~ |0 otherwise
¢ ST HteheT i Hence, which of the following is true
FHYTHA R 7 i for estimate of proportion ?
e r . - :
(1) p—;,rﬂﬁ@ﬁméﬁﬁa : () p= e , T is number of units
n
VT W ¢ | * having that characteristic
Ron. N-n _ ? A N-=n
@ V@)= ——pr1.@=1-p) ! @ V@) = ——pq,@=1-p)
(3) 73 wfded 7w F R 95% (3) For large n 95% confidence
fervaairar &1 s & P+ 1.96 interval for P is
N-n N-n
“‘EI—PQ P+ 1.96 No Pq
(4) Fmedt ; (4) All the above

37. A district consists of 10 tehsils, out of
10 tehsils, 2 tehsils are selected by
simple random sampling scheme with

37. Tt ws ot § 10 qeefi@ & 1 =9 10
aedlie 4§ 2 e e afew

sfest, o faftr & 4 o @’_ 3R replacement, and the households of the
S ﬂﬁ g dedid & ot ‘E@Fﬁ i selected tehsils are completely
e oyt fopam T 81 | 5 YR | enumerated for the survey. Such a
I sampling scheme is called
1 wferest fafer 1 svgd 2 : _ '
(1) Tafta afe=em i (1) Stratified sampling
(2) {Fmﬁ%raa:r g (2) Cluster sampling
(3) sheg gl | (3) Systematic sampling
Z

(4) T Agfe i -: (4) Simple random sampling

indiresult.in whatsapp - 9352018749 =
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38, = Wiomed § qufl T % SH H
TET R
N(N - n)Z(T

n(n—

) n(N-n) n) < Z(T T)"

N(n—1) &

N(N —
n(n—1)

Z(T .

n(n

Z(Tl T)?
N(N-1)
W&l Ti, 1—thi’ﬂﬁﬂﬂ'ﬁ§ﬁﬁ%ﬁwa |

Ife wag Tiaey % 3l 1 e a1

gufy mes ot @ At g A

(1) wreag i, agfess Siaead
(SRSWOR) =l 37081 3T TS
aftormy e |

2) Fag Swe, Ages giae

- (SRSWOR) 1 e #d IS
it it |

(3) HHag WhEE W Ao
yfereem gu aftggar & g
aft |

(4) wnag i, w@ia Agfss
yfererm 6 e IR IS
gitoms &t |

39.

40. ANOVA qeiieh % el qea smur

HT 8/2

(1) wTa ATTersh B =1 |

) At e sfea g e foresr
e Y Td TER 3T 8 |

3) T THEAE WA S BT
=Tfed |

(4) FEed

n(
Q”alNDmESULTE

¥Y¥OUR SUCCESS PARTHNER

YOUR SUCCESS PARTNER

%INDIRESULTE

| 38. The variance of the estimate of
| population total in cluster sampling is
% given by :
‘ 1 NN -1} Ti=T
M <5 2( 5
i
i n(N —n)
i 2 Ti=T)
| 2 NG oD 2 Z( Y
}
1 ~ N(N-=1)
: li
®) oy Z(
n(n 1) Z(Tl T)“
_ NN -1) 4=
! Where Ti is the obscrved total for the
i —th sampled cluster.
{1 39. If the mean square within the
systematic sampling is larger than
| population mean square then :
5 (1) Systematic sampling is more
precise than SRSWOR
| (2) Systematic sampling is less
| precise than SRSWOR
i (3) Systematic sampling is equally
g precise as SRSWOR
i
| (4) Systematic sampling is more
| precise than stratified random
l sampling
|
E
240. The basic assumptions underlying
' ANOVA technique is/are
(1) effects should be additive.
!, (2) errors should be normally
i distributed with mean zero and
1 constant variance.
! (3) errors are independently
% identically distributed.
? (4) all of these
12 indiresult.in whatsapp - 9352018749 0o
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41.

42.

43.

44.

45.

&/

Th ANOVA @reft § wreg o apr &

TN 8 3 e Bidr & 76

(1) I HHh! 51 TEl wliego gy g |

(2) ®H ¥ HRE & gliewr IR ug 5
fereg &hm |

(3) T $9oR1 Hal T HYG ¢ |

(4) TBadi

IR SEer fqvewer $iY weh
M A i g s ey ® ?
(1) Ter wme niga

(2) Ao yuTe Aiee

(3) Tafsra wume aigs

(4) 3 9 IS T

6 x 6 e Tt firepean # F-3rara i
=g Hife arft

(1) (5,15)

(2) (5,20)

(3) (6,15)

4) (6,20)

T ©d H Agfoas @UgH Tieheddl &
A & forl @uel w1 fmfor % ol
1 = fewm w1 3ugnT fopan srar 2

(1) ST ST T o FH=L A |

(2) S IS TR F eAreed gl |

(3) Yo TR E T w |

(4) o A i3 TE

Wh 23 dATHS  YAM  (factorial
experiment) H @ft wumal wd 3wt
7T %! T T1 B T L Tl

B |

(1) 3 fafy

(2) Hrgen fafa

(3) ¥ fafy wa wigen faftr g

(4) a3y fafy a1 & uigen fafy

INDIRESULTE

¥Y¥OUR SUCCESS PARTHNER

43.

44.

45.

@!NP’IIBT:EEIS PARTHNER

The expected mean square in ANOVA
table are the source which reveals :-
(1) Whether the test for factor exists
(2) Which factor is tested against

error term
(3) Whether exact test for the factor

exists
(4) All of these

In usual analysis of variance used in
agricultural experiments, we use

(1) fixed effect model

(2) random effect model

(3) mixed effect model

(4) None of these

The degrees of freedom for F-ratio in a
6 x 6 Latin Square Design is :

(1) (5,15

2) (5,20

(3) (6,15)

4) (6,20)

In field layout of a randomised block

design, the blocks are formed in direction.

(1) Parallel to the direction of fertility
gradient

(2) Perpendicular to the direction of
fertility gradient

(3) Diagonally to the direction of
fertility gradient

(4) None of these

In a 23 factorial experiment all effects
and their sum of squares can directly
be obtained by
(1) Yates method
(2) Modulo method
(3) both Yates method & Modulo
method
(4) neither Yates method nor Modulo
method
indiresult.in whatsapp - 9352018749
(]
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46. TH 23— WEIUCH! WM H 8§ ITER

et @ vl § e weer Tt
frmmn 2 :

g 1 (1) (ab) (ac)  (bC)
@ g 2 @ (b)) (¢ (@bo)
< v 7 o STRIReT Hehi Bl
(1) A

(2) AB

(3) AC

(4) ABC

A A wE T fagaE R ?

(1) 3T|+T2—3‘~T3+T4
2) T, +3T,-3T;+T,
(3) =BT, ~'Ty+ T+ 5Ly
@) T, +T,+T;-T,
b @eH 9 v ITERI G Agleaehiad
e afirReuAT (RBD) # afg T Sam
@H%,?ﬁmﬁmﬁam,:@aﬂgﬁ
F 3maR W, e BT R
(et Tl St @1 T 3 E)

bB' +vI' - G'
) ———
(b-D(v-1)
bB'+bT' -G’
b~H -1
bT'+ vB'— vG'
(b-D(v-2)
bB' —vT' -G’
@ ey
@m%ﬁ%mmwﬁ%
) @ue § @ v IHER ® wlx, A,
ast: 3 @ueH! $i HeA I 7 @
@ues @t A (SSB) I W B

(1) v(x,—x,)°
Q) (v/2) (x; —xp)?

3) v(x,—x,) (6, + %)

)

©)

|
‘a
i
i
|
|
]
H
i
!
H
|
|
|
i
:
ii
1
|
;
i
i

|
|
'ﬁ
|

14

47.

48.

49.

%INDI E

In a 23 — factorial experiment the eight
treatment combinations in two blocks
are given by :

Block1 (1) (ab) (ac) (bc)
Block2 (@) (b) (¢) (abc)
The interaction confounded in this
experiment is :

1) A

(2) AB

(3) AC

(4) ABC

Which of the following is a contrast ?
(1) 3T, +T,-3T; o

(2) T;+3T,-3T;+ T,

@) —3T, - T, +T; +37,

4) T, +T,+Ty-T,

The formula for estimating a missing
value with minimum error, in a RBD
having b blocks and v treatments, in
usual notations is
(1) bB'+vT' -G’
b-D(v-1)
bB'+bT' -G
(b-D(v-1)
bT' + vB'— vG'
b-D(v-2)
bB' —vT' -G’
b-D(v-1

)

€)

4)

In a RBD, there are only two blocks.
Let v be the number of treatments and

-x_l and ;2, the average yields of two

blocks. Then SSB (Sum of Square due
to Blocks) can be expressed as

(1) vx, =)

2) (vI2) (x, - xp)?
3)
4

v — —
2 (x12 "xzz)

indiresult.in whatsapp - 9352018749 %
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n J&10T qeT k IR arelt atfyeheqar o
T faata i ez i 2 -

() (k=1)df

) 1df

3) kdf

4) (n—-k)df

EIEB'Q'IEFﬂ TN § Rl (confounding)
A <6t oty w1 s9am < TTY i
S HH & o7 |

(1) T

(2) G wfapfa

(3) @vs

(4) o

, x, U Igless Tiaes & N(u,
62), &l n 9 o2 1 99 3FE & | a9
feddsRaTsaA g g ?

(1) ixi,pwqaﬁqafwrsr%ash%i
i=l1

50.

S1.

2. x, ...

Q) ixiz,czaﬂqzﬁwﬁuﬁaﬁa‘% l
i=1

3) [in_.fo] (4, 0%) 1 FIH

i=1 i=1
T Ufdesis 2 |
(4) Tgadl

53. U el t IS O % ford Ared o

TG TS G&1 e AfG

(1) lim E(t,-0)>=0

(2) 3 t, TH gEU HH @ Al 6
lim E(t, — 0)> = 0 %! ft "war 2

n—coo

qa«m E(t, — 0) < E(t, — 6)%
(3) (1) 3R (2) gmi

«(4) IO TR HEl I FHdl
%) INDIRESULTE

YOUR SUCCESS PARTNER

i
i
f
i
i
i
i
i
i
H

15

| 50.

al.

52.

53.

Q’(l)lNDlRESULTE

With n observations each contrast
among k treatments has :

() k-1)df

(2) 1df

(3) kdf

4) (n—k)df

Th
factorial experiments is used to reduce
the size of

(1)
@)
3)
4)

method of confounding in

experiment
replications
blocks

all of these

Let x|, ..., x,, be a random sample for

N(u, ¢%) both p and o? unknown.
Then which of the following statement
is true ?
1
(1) in is a sufficient statistics of p
i=1

n
) Z xi2 is a sufficient statistics of 62
i=1

n n
(3) (Z X; ,inzl is jointly sufficient
i=1 =l

for (u, %)
(4) All of these

An estimator t, is said to mean square

consistent and efficient for parameter 0 if :
(1) lim E(t,—6)>=0

n—rwx
(2) If there exist another estimator
t, for O satisfying lim E(t, — 6)
n—a
=> 0 then E(t, — 0)* < E(t;, — 0)%.
both (1) & (2)

nothing can be said

3)
(4)

indiresult.in whatsapp - 9352018749
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54.

55

56.

@

afe T0 UEH WA O Uk aRdrdeh

AT (a, b) o AT A & Frmeht

TTRERaT 100 (1 — )% &, af Fefeiad

T Y B A1 S HE AR B ?

(1) awfs fored ufest v fen mn a8
yEH dfed B = |

(2) Pla<0<b]l=(1-0o)

(3) W&t W a T foveefimar € 2
Fafs b 3= favaear hr dm g |

(4) ueh! fargerfizrar Tomies o &N |

T W Y I Bl TH W
Jopfeus afemerr & faeg wliewr @
e, freeht giieror <1 wifda que w1
Teft Tl & SaTe 2 o 98 HEwrd @ |

(1) I gleu

(2) FEwfEmET wiEo

(3) BH wewfrRmE Tier
(4) T ¥ B3 Tl

e e H Ay, xy, .00 x, T RIHEE]
et &t

/o, vO<x<(v+1)0
v>0,0>0
0, HATUI

?T% x(]) = :‘EE'!HI:[ (xl, xz, R xn) qadl
Xy = Aferepan Geys e Xp) HEIRCED
31Rreram GwIfea STehes 2

(N xmfv

() xg/(v+1)

3) x(,)!(v +1)

4 x{n}/v

flx, 6)=

INDIRESU

YOUR SUCCESS PARTHNER

|
|
|
E
i
|
|
i
|
i
|
|
i
|
i
%
|
!
|
;
!
i
!
|
|
|
|
|
i
|
|
|
i
|
|
|

i

54.

55,

56.

@ oiResy

If we try to estimate 0 in a real interval
(a, b) with probability 100 (1 — )%
then which one of the following is
NOT true ?

(1) The population which
sample drawn should be normal

Pla £0<b]=1-a

from

(2)
3)

a is called lower confidence limit
while b is called upper confidence
limit

Its confidence co-efficient is .

4)

For testing a simple null hypothesis
against a simple alternative hypothesis
a test which has largest power in the
class of tests of same size is called

(1) unbiased test
(2) most powerful test
(3) uniformly most powerful test

(4) none of these

LEtn,. Xy vy DO random sample from

176, vO<x<(v+1)6
fx. )= v>0,0>0
0, othrwise

If xy = I Gy i e , x,) and

X(yy = Max (xp, ... x_), then maximum

livelihood estimator of 0 is
() x{l)/v

(2) x(n)/’(v +1)

() xyy(v+ 1)

4) x(n}f v

indiresult.in whatsapp - 9352018749
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87 % Baren X, T argfese wiiedt & | | 57. Let xp, x,.... x; be a random sample
N(w, o2) &, ST&f p 9 o2 &1 7H I 2 from N(i, o2), both p and ¢* unknown;

— n = - . n : 5 Ty -
aa X = (Lfn) zxi , g 52 -, (1/“ _ 1) ; aHd X ( .f'n) éxl 5 8 (1 n 1)
i=1 i " =
s )2 z(xi'x)2 , then 100 (1 - )%
Y (x; -7 @ o B 100 (1 — )% :

=1 confidence interval of o2 is

forgarerar siaua @ | p
, 2 2
’ 5 (1) ns ns
(1) ns . ns- xzn.o:fz in.l—ur"?.
X,zn'a/Z 'X,Zn.l—otr’?.

2
Yn-lLa/2 A n-Ll-a/2

2 2
ns ns
3) ) }

2 2
A nl-w2 A now2

2 2
(4) ns ’ ns ]

2 2
A n-11-a/2 % n-lLo/2

2

2 2
ns ns
P
IlS2 l'.lS2 } (2) 2 4 ]

2 r
\ X n-lLa/2 X_zn—l,l—a/2

2 2
; ns S
3) e }

2 2
\ X nl-w2 ¥ no2
2 2
ns ns
@ | =
A n-11-o/2 Y n-la/2

58. X, ..... x, T Agfee Hfded B N(w, o?) |

T, agrpaczwm'—ramﬁ%am

58. Let %, v X%; be @ random sample
from N(p, 62), both p and o unknown;

and x = (1/n) Zx and s2 = (1/n) Z

x=(1/n) ixi T s® = (1/n) Z (o —x)’
i=l

i=l

= e - .
T T T 7 (x; —x)2. Then which of the following

statement is true ?
(1) x 31 s2 3hAE: p d o2 & JAferehad
GeTTerd STheteh & |

(1) x and s? are maximum likelihood
estimators of p and o7
respectively

IR L R L B e

(2) x, p H IAREG AN 2, o2 H
i 3T 2 |

(2) ¥ is unbiased of p and s? is biased
estimator of >

(3) xd 2 W p d o2 H =gad =

(3) x and s* are least square

T 2 | estimators of p and o2
respectively
(4) TgaH
(4) all of these
F// |ND|RE 55 indiresult.in whatsapp - 9352018749 o
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59.

60.

61.

FNDiRESy

giereqratt & e % "e" H

frafrfaa i s TS T T8 8 7

(1) o ferere aftemea a1 & fwes faeg
1 OfeReaHT BT T S ¢ |

(2) I UTteheaT hl SRR A
iRl i 98 @cd 3 v IR
1 HTT HEATH B |

(3) T UiteheqE T Sl HR H
WTRehaT Tafeh 97 el & heemdl 8
e A 1 AT

(4) 39 ThET ) wiled (o + B) BN

ufereaall & e & el § = @1

HUF T T @ |

(1) a8 uftepeq fws yrer wafe o
& fag & 9% we gReher
FEAT 8 |

2) 98 uieper Rres e wufy 3
w ¥ s fag & s' W@
YEHeaT HEaTl & |

(3) afe e 3 it wifkerar am =i T @

W@ A1 98 Hreiehdl TR el & |

(4) U I UTtehouHT I IR
# WReraT JEp 98 T B
gfteror < wifeks et 8 |

sTTEeE The & gy 1 fFEfafaa

W I HUT T T8I £ |

(1) =iy FeoT T 39 S {6
ST ST AT ol s TaHT= & A1
i

) wEeE wleer 9 @ G R
qafes wftest &1 TSR FST &l |

(3) Tl uftfeufaat = afg A1 TR
% gy @9yg ? 9 ' YEeE

oot = SerfieRar el |
(4) wraEea glieror s 3w & fRar
T Tehar afe gafd yea= sfed
. T

RTNER

59.

60.

61.

@ woiResy

Which of the following is NOT true in
reference to testing of hypothesis ?

(1) An alternative hypothesis is one
against which null hypothesis is
tested

The probability of Rejecting Ho
when it is true is called size of I
kind of error

The probability of accepting the
Ho when it is false is called size
of Il kind of error

(4) The strength of test is (. + 3)

(2)

3)

In testing of hypothesis which one is
NOT true.

(1) A hypothesis which has only one
point the parametric space is
called simple hypothesis.

(2) A hypothesis which has more than
one point in the parametric space

is called composite hypothesis.

The probability at which the
second kind of error is fixed is
called level of significance.

Probability of rejecting null
hypothesis when it is false is
called power of the test.

3

C)

Which one of the following is NOT
true for non parametric tests ?

(1) Non-parametric tests are used
when the parent distribution is not
normal.

(2) Non parametric tests are only
useful when n is large.

3)

In a situation when both type of

test exists we should prefer

parametric tests.
Parametric tests can not be used

(4)

when distribution is not normal.

indiresult.in whatsapp - 9352018749
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62. W= 0 % forw afe T emfima smehess | 62

Eﬁ?ﬁ’l‘ziﬂm:

(1) Il s 0 % foe
(2) 01 fia et

(3) 0% e Ter amepe

(4) 0% fou yata smeneres

(1) b 2oft & Frgfoas g & To
(2) TEEEt 2oft & 1T

If T is unbiased estimator for 8 then T2 is :
(1) Unbiased estimator for 6

(2) Biased estimator for ©

(3) Efficient estimator for 0

(4) Sufficient estimator for 6

a series -
(2) Co-efficients of general auto
regressive series

63. Al 0 T arcafass yr=et g aur B fgdi™ If O is the true parameter and [ be the
miﬁgﬁ’é’fﬁ ﬁ(e)w?n% : type 1" error, the function B(0) is
(1) wIfed wom | known as : P
(@) F =) A | @ Powsrofthe es
(3) HhIH Hf¥ereor e ; (3) Operating characteristic function
(4) whifceh & | (4) Critical region
64. T HHE T T N (u, 10.24) 8 | 5a E A population is distributed as N(u,
g T 70 576 1A & T ldedl ol | 10.24). A sample of 576 items has a
W 4.7 A Hy @ p =52 % e F 5 mean 4.7. The value of statistic Z to
e 7 wfdests w1 o= g i testH,: p=3.21s:
(1) 3.75 | (1) 3.75
(2) 28.125 | (2) 28.125
(3) -3.75 i (3) — 375
(4) TTHEHIETE % (4) None of these
65. TuTefoTes qlieron # Tt qaraT e Relative efficiency in non-parametric
I BT 2 - tests is the ratio of :
(1) < g i wifem (1) Power of two tests
(2) < TEEIT ST HHR (2) Size of two tests
(3) T Ifies =1 3R (3) Size of the samples
(4) I8 7oy (4) All of these
66. WA — I Y TadM TF U Marshall Edgeworth index number
98 & FIYLF & HE A uses of quantities of base and
e | current year as weights :
(1) T e (1) Arithmetic mean
i .
W e : (2) Geometric mean
g; e e (3) Harmonic mean
; " E (4) None of these
(4) 3T 9 S T | :
; ! Variate Difference Method is used to
67. TR faftr =1 sw Fre % b | estimate::
o fore fepan S 2 - i (1) Variance of random component in
i
|
|

€) @.é}uﬁ = 5= T  HI (3) Mean of random component in a seties
. (4) FHASBEAE | 5 (4) None of these

(FyINDIRESULTE s o
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68.

69.

70.

71.

72.

@

H1e it & e 6 GEEa 15, 24, 18,
33, 42, 48 % fou Freffy wer-mea 2
(1) 19,25,31,39

(2) 19,25,31,41

(3) 19,25,33,39

(4) 19,25,33,42

T g1 h @lied 6 wifa
RIGEEGIRE

1) mq@‘aﬁm

(2) RS

(3) ﬁrf\aﬁw'

(4) T o FIHH

(i) e Hisd

(ii) TOTTcHe Aise

(iii) HIE-STH Hisd

(iv) Sifafees oisa

(1) (@) ud (i)

(2) (i)W (iii)

(3) (), (i) W (iv)

(4) wft =i aisa

Frafafaa 4 @ Sugew weg 94 foEE
s fied el wruEEe R |

(1) 3eheH

(2) e

(3) @HI (1) W (2)

(4) Fra () TE Q)

Fret ot § e faifeam = & 9@
e UM HI TR R ?

(4) Tzl
INDIRESU

YOUR SUCCESS PARTNER

{
i
b
i
i
i
I

| 68.

69.

70.

11

72.

(#)WoiRes

For the given six values 15, 24, 18:33;
42, 48 the three yearly moving
averages are :

(1) 19,25,31,39

(2) 19,25,31,41

(3) 19,25,33,39

(4) 19,25, 33,42

The general purchasing power of the
currency is determined by :-

(1) Consumer’s price index

(2) Volume index

(3) Composite index

(4) Wholesale price index

.

Usual models used in the time series
analysis is/are

(i) Additive model

(ii) Product model

(iii) Cobb-Douglas model
(iv) Logistic model
Choose your answer
following :-

(1) (i) and (i1)

(2) (i) and (ii1)

(3) (1), (i) and (iv)

(4) all the four type

from the

Choose the appropriate word from the
following to fill the blank.

s aprojection of past pattern.
(1) Estimation

(2) Forecasting

(3) both (1) and (2)

(4) neither (1) nor (2)

Link relatives in a time series removes
the influence of :

(1) The trend

(2) Cyclic variation
(3) Irregular variations
(4) All of these

indiresult.in whatsapp - 9352018749
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73. Wh & A0 Y, (t= 1, 2,..) % foQ

74.

15.

76.

6/"

Y, =ar,, +3, 8, 96 dgfss W I,
S, JRr, W2 | d9 1 i (FHT
AUS) o fIU T gegey ®ed &1 0

(1

)

)

(4)

et s (ife) 1 wormerdt Sioft
Upp TalUy, TbU =2,

C PR Fam i T AE R |
(1) HThIE 6t Zoft

(2) Itk Al

(3) s goft

(4) Qe 2of

Frafafaa wamert 9T ARQ2)

Y, =&, Yoy + 0 Voo + 2, S eI
fagi § quter wf 2, & faw 2 =+
wHEEEY (P) HAFE |

(1) P,=0

(@) P,=¢,/(1-¢,) + 9,

3) 'P2=¢12/(1_.¢2)

4) P2:¢2+¢|2"{(1"‘¢2)

erehichl & wey o wwETar Ffe @ faww
2

(1)
)
3)
4)

INDIRE
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031
08 w0
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5

74.

5.

76.

Let for a time series Y, (t = 1, 2,....)

Y, =ar, +Z,suchthat ¥, %,

r, are independent random variables,

and

then the value of autocorrelation of
lag 1is

a L
2
@ T
2
G) 1(-):-(1
) 1-? a?
The second order auto-regressive

series U,,, + aU,, + bU, = Z,, also
known as :

(1) Markoff’s series

(2) Yule’s series

(3) Harmonic series

(4) Oscillatory series

For the following Autoregressive
model AR(2)

Y, =0, Yo t &, Yo @ in their usual
notations, the value of the (P,)

autocorrelation of order 2 is
(1) P,=0

@) Py=0¢,/(1—9,)+
3) P2=¢12/(1“¢‘2)
(4) Py=¢,+¢,(1 -6,

The range of homogeneity error in
reference to index numbers is :

(1) Oto 1

(2) Otooo
(3) -1to1
(4) —o0to®
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78.

79.

80.

Fmo

31T 1985 =hT ST Yoo YIHIH 125
o7 | U BT GIhe 120 AT I
ST T GEHIH 135 A7 | A IR H
Yo W fe T wres afoRa @

(1) 66.67%

(2) 70%

(3) 50%

(4) 65.67%

areafess anfde gfg @ w6 % fog,
o FaHI hi B TR H S
FAE :

(1) TEHE IATE 1 oo TTd B |

(2) GNP H3 <l araehifa o

(3) (1)aw1(2) gt

(4) (1)@ (2) | & s T

e gfaa i 3uR 9d | ariies ImHEH
% 2000 oft e Sre 9¥ # g T 50002 |
Ffe CPI 325 Bl a1 3MYUR 98 & T &R
1 SHIR T@AH & T 39 fopa e <l
STTEYIhdl BRI 7

(1) 1500

(2) T 1250

(3) %1300

(4) T 1800

o 2010-11 T WRa | Fpadt IR FN
O 81 el 8 ?

(7

2) 9

(3) 11

4) 13

I § 9 9] 0T fohE oY ° ST
HTE ?

(1) 1947-48

(2) 1951-52

(3) 1919-20

(4) 1926-27

DIRESULTH

R SUCCESS PARTHNER

77. The consumer price index for April

78.

79.

80.

81.

1985 was 125. The food index was
120 and for other items 135. The
percentage of total weight given to
food is :

(1) 66.67%

2) 70%

(3) 50%

(4) 65.67%

In determining the real economic growth,

the price index number is used to :

(1) Evaluate the value of national
products

(2) Deflate the GNP value

(3) Both (1) and (2)

(4) Neither (1) nor (2)

The salary of a person in the base year
is ¥ 2000 per annum and in current
year ¥ 5000. The CPI is 325, then the
allowance required to maintain the
same standard of living is :

(1) ¥ 1500

(2) T1250

(3) T1300

(4) T 1800

How many Agricultural census have
been conducted in India by the year
2010-2011 ?

1 7

2) 9

(3) 11

4) 13

First Live-Stock census in India was
conducted in the year ?

(1) 1947-48

(2) 1951-52

(3) 1919-20

(4) 1926-27
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82.

83.

84.

85.

@

A

TR # 19 iEn QA (waa &9
ifershl) &1 3FIH o % <l °
S W TSI & T I “THN=H Heoe
WH” H1 Tl (@ TR ?

(1) e, 3tar, ufvadt e

(2) TS, TSR, HETg

(3) ufvadt s, wAtes, afierrg
(4) WET W, WY, T

ffe wa wiferh fesmed =1 e
forg ad o femar T 7

(1) 1950-51

(2) 1955-56

(3) 1952-53

(4) 1947-48

= 9 @ =9 @1 DES-Ag &1 fganfds
JhIEH G ?

(1) i geat <h1 geife

(2) R ISIe Hiferehl

(3) IR HUA TETh! 1 Faife
(4) YA o Tifeaeh!

IR § 9yed S oE fead AWt %
FAA T FI IR ?

(1) 2=d

() 3=d

(3) 78

(4) 599

20eft w3 oET 61 R (2019) ®
AR oy 37 qat i ge are
T2

(1) IR

(2) TEAH

(3) HEAUew

(4) HEWY

INDIRESU

YOUR SUCCESS FARTNER

83.

84.

85.

86.

Which of the following group of states
are known as permanently settled
states, from the point of view of
estimating crop area statistics in India ?
(1) Kerala, Orissa, West Bengal
(2) Rajasthan, Gujarat, Maharashtra
(3) West Bengal,
Nadu

Madhya Pradesh, Maharashtra,
Goa

Karnataka, Tamil
4)

Directorate of Economics and

Statistics was set-up in :
(1) 1950-51
(2) 1955-56
(3) 1952-53
(4) 1947-48

Which of the following is two yearly
publication of DES-Ag :

(1
(2)
3)

Bulletin on Agricultural prices
Indian Livestock Statistics

Bulletin of Commercial
Statistics

Crop

Indian Forest Statistics

4)
Live stock census of India is done in
every :

(1) 2 years

(2) 3 years

(3) 7 years

(4) 5 years

According to 20" livestock census
report (2019), the state which recorded
highest live stock population is :

(1) Uttar Pradesh
(2) Rajasthan

(3) Madhya Pradesh
(4) Maharashtra

indiresult.in whatsapp - 9352018749 o
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87.

88.

89.

90.

fedash-msm o ?

(1) %a W I9E + Ged B = U4
ISR

(2) TEE 3 = WY 3 + SN o A&
T 9T i TS HA I

(3) TSR 3™ = G WY IUG HRh
AT W — I T L

(4) SR AT T Fhel TP IcA1G =
TR ged W ghd TP 3G +
I[E T HL

qRa § 2011 37 2001 = SFOEST H
GIERAT €t 1 AT A § e 3wy
& =] ! afrfard T8 fomam o -
(1) 0-6

() 0-4

(3) 05

4) 0-7

g H wg-IeyE  ImERe-aiiE
AT T IRIISH T &1 §9 8 =
(1) CSO

(2) ISI

(3) NIC

(4) NSSO

WA ° g 3 20 AT ST @
(1) S &

() Shur.d. %

() W%

(4) TEadi

NSSO (U wiiest wdeor 3ndi)
SHE 2020 @ fegmw 2020 & T H
PIE1 = (T38) Gernferd w2 |
(1) 76at

(2) 77at

indiresult.in whatsapp - 9352018749
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87.

88.

89.

90.

o1.

@) ol

Which of the following statement is correct ?

Product +
Net Domestic

(1) Gross Domestic
Depreciation =
Product

National Income = Domestic
Income + Net factor income from
abroad

National Income = Net Domestic
Product at factor cost — Net
Indirect Taxes

Gross National Product at factor
cost = GNP at market prices + Net
Indirect Taxes

In India during 2011 and 2001
population  census, children  of
following age group were not included
in computing the literacy percentage :
(1) 0-6

(2) 0-4

(3) 0-5

4) 0-7

2)

3

Q)]

At the centre, multipurpose socio-economic

surveys are mainly conducted by :
(1) CSO

(2) ISI

(3) NIC

(4) NSSO

The measure of National income in
India is

(1) GDP

(2) GNP

(3) NNP

(4) All of these

The NSSO is conducting a round of
surveys during period January 2020 —
December 2020. The number of this
round is
(1) 76"
(2) 771!1
(3) ?gth
4) 79"
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92. = GHh! ol hLUT hid GHT &Y 39
ST o1 T WA 9178T T
(1) <t 31Tt <ht T A1 91 954 B
Bl IR 1 & wga ST & |
(2) = e e &l 9% 8
Heh FUSK &A1 =11 |
(3) V& a% TWd B 91 < dHn
A AT |
(4) Aad
93. ot Y iy & forw = B @ s @
H<a ygfi 1 AW AUH R ?
(1) TH= HTeR
(2) WTfEHT
(3) wgeTh
(4) sunfafae @

o=t Syoft <1 BOrcHes HTe ST BT 7
11 1
2’ BT g
(1) n
(2) 2n
3 —
n+l
2

n(n+1)

94.

1,

4

e x 9 y & TR H1 g
2x + 3y =108 T x 1 forar T 15 &,
qt y o1 faeam gm
(1) %5
() %20

20
3) % 2

4) %10

IRE

RTNER

[
w

92,

93.

94,

9s.

v

@

While classifying raw data we should
take care that :

IRES

SUCCESS PAR

G

YOUR THER

(1) number of class intervals are
neither too small nor too large.

width of class intervals should be
preferably same.

2

G3)

there should be no open ended
intervals as far as possible.

(4) All of these

For open end classification which of
the following is best measure of
central tendency ?

(1) Arithmetic mean
(2) Median
(3) Mode

(4) Geometric mean

What is the harmonic mean of the

series 1, i l o l‘?
2. 3 n
(1) n
(2) 2n
2
B —=——
n+1
2
4)
n(n+1)

If the relationship between x and y is
given by 2x + 3y = 10 and the range of
x is T 15. What would be the range of y ?
(1) T5
2 T20

20
3) T —
3) 3

4) 210
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96.

97.

98.

99.

100.

=qeles free foraem A 2 2
(1) H=rE g

(2) &

(3) Ppadl

(4) TEETA

e et & gy @ fgda ageds 8
0,1,-1,-2,6,4,5,8,12,10, 11 :

1) 4

2) 5

(3) 6

4) 8

SIfORI A G B o HIE Te JEUT §
X, = 15.0,X, = 20.0, 6,? = 25 Q1
op2=161

o 2oft i g R 2

(1) ooft A

() =oft B

(3) Soft A g B i adt T § |
(4) T U IS TE

e Terawon 3 wETur o1 9 BT 8
(1) A faaes

(2) uftert

(3) we feae

(4) 398 A B A&

Tush! o e e st Fefafea
o fraem ATa AT 2 ?

(1) Gu&gar
(2) 3oTS aa ToEyar
(3) Hpadl

@ wEawi

#
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96.

97

98.

99.

100.
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(#oiRes

The Quartile deviation is a measure of :-
(1) Central tendency

(2) Dispersion

(3) Kurtosis

(4) Symmetry

The second quartile of the following
set of data 0, 1, -1, -2, 6, 4, 5, 8, 12,
10,11 is:

(1) 4

@) 3

(3) 6

“ 8

The mean and variance of series A and

B are T(A = 15.0, )_(B = 20.0, GAZ =25
and 65> = 16. Which of the two series
is more consistent ?

(1) Series A

(2) Series B

(3) Series A and B are equally

consistent.
None of these

(4)

The square of the variance of a
distribution is the

(1) Standard deviation
(2) Range

(3) Mean Deviation
(4) None of these

The third central moments of the data
gives the measure of —

(1) Symmetricness

(2) Unit free symmetricness

(3) Kaurtosis

(4) None of these

00
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101.

rat et et po(r=1,2,..) &
CERIERETE§ i

(1) Fwlags

Q) =Ha®

(3) Tl € e fog 9 whet &

(4) ¥ A IS A&

102. Tl o6 &6 = h1 S8 1 79T ST

103.

104.

%aﬂﬁmﬂ“ﬁ%ﬁf;”%ﬁs‘r%’w
2
Hragids e HaaTar & o

(1) B,<3

) B,>3

(3) B,=3

(4) ¥ 9 1 TE

! 1 WTEY fome =an g afg 39
AR |

(1) wrfessst

(2) =R

(3) 9gTP

(4) 37H @ H1S TE

Tifeaehi wiferar < i fe 4 |
Terereh gra €t i oft 2

(1) eI-HrFe

(2) wrTE

(3) aM-TEs

(4) e

IRESULT

R SUCCESS PARTHNER
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102.

103.

104.

(#)WoiRes

independent of change of

(1) Origin

(2) Scale

(3) Both, the Origin and Scale
(4) None of these

Kurtosis is a measure of the peakness
Ky

2

Ho™
then the curve is called mesokurtic if :-

(1) By<3
(2) B>3
(3) B,=3
(4) None of these

of curve and is given by B, =

The mean deviation of data is
minimum when measured from :-

(1) Median

(2) Mean

(3) Mode

(4) None of these

The definition of statistical probability
was given by :

(1) De-Moivre
(2) Laplace
(3) Von-Mises
(4) Feller
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105.1%2:1%:?(;&):%,1)(13):%3211
P(A U B) = %zﬁ P(B/A) &t TRrehal
2:
1
Iy —
(1) 5
(2) !
6
(3) 4
9
1
Ay
@ 12

106. I A 3 B2 W geA &, af P(A N B)

ERERLI

(1) P(A) - P(B)

(2) 1-P(AUB)

(3) [1-PA)][1-P(B)]
4) T

107. 3 E,, E,, ..... E, T M B30 6l

aﬂﬁ%ﬁ'&ﬁEiDEi+l,i=l,2,.....,n
ad

a M pE)=0
@ M pE)=e
@ M pE-=1
lim

n—oo

4) P(E,) = SEWE AF ¢ |

(@ oiresuL

|
|
|
i
|
|

105.

106.

107.

Given : P(A) = —, P(B

3
P(AUB)= :_;, then the probability of
P(B/A)is:

(D

b | —

)

)

ols =

-

(4)

If A and B are independent events,

then P(A N B) is equal to :-

(1) P(A)-P(B)
2) 1-P(AUB)

(3) [1-PA)][1-P®B)]
(4) All of these

IfE s Egs veos E, is countable sequence
of events such that E, o E; , |, 1= 1,2,

lim
n—oo

(1) P(E,) =0

lim
n— oo

2 P(E,) =

Iim
n— o

€) P[E ] =1

lim
n—ow

“4) P(E,) = impossible value
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108. afq X o s &1 My () = P(1 - 2eb!,

109.

110.

L]

@ o

a8 s g
(1) oI e
(2) w@rEt e
(3) fgugsica

(4) =HUTcH fgue 9eq

w0 = 5[5 4 @

r=0
WX HTIHR
1
(1) ~
1
0] o)
(3) 6
4) 02

T HAN H 6 T, 4 The a1 5 Hredt
T & | wferemaen afga gfeeem d s
B 31376 TN <l ofiF e, Freprer &
WTRrhar grt

1

225

8
225
24
91
4
91
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ey

)

3)

“)

|
:
!
i
!
!
i
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108. If the distribution of X has, My(t) =

109.

110.

P(1 — 2eY)! then the distribution will
be :-

(1) Geometric distribution
(2) Poisson distribution
(3) Binomial distribution

(4) Negative binomial distribution

oo T
If My () = Z(%} , then the variance
r=0
of random variable X is :-
1
N —
(N 0
1
(2) (-}5
3) 6
4) 62
An urn contains 6 red, 4 white and

5 black balls. The probability of
drawing three balls of different colours
when the balls are replaced after each
draw is equal to :

L
225

8
225
24
91
4
91

(1)

(2)

3)

(4)
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111. 3ifem (swaw) Rroced groft & %0 @
wqammmﬁm%%q;i-cjzo
ﬁ,gﬁéﬁ;

(1) 3ETd &

(2) T HUNEE &A
(3) dnfcass &
(4) =hiA

112. n shWT 1 GEHG @FTq 3T § |t

T B g & e =man et f

(1) n-1

(2) n+1

(3) HAYHAn

(4) 3fehad n

113, afE A Teh 38 T 1 71 T8 @ 6

Ak=0,q8 [+ A+ A2+ ...+ AT sU=R

g

1) I-A

(2) T+A

(3) d-A)"

) J+A)"

T o A % A @ o
U i Afged i ATt

(1) Tum @ |

(2) =qi |

(3) =&t |

(4) TFraffa 78 &t s ased |

114.

115. 3 x-3y+z=-1
2x+ty—4z=-1
6x—T7y+8z=17,

al

(1) x=

G”) %) INDIRESU

| 111. In final (optimum) simplex table, if

| z, - ¢ = 0 for at least one non-basic

variable, then there will be :
(D
(2)
(3)
4)

infeasible solution

an unbounded solution
alternative solution
cyclic

The minimum number of lines
covering all zeros in a reduced cost
matrix of order n can be :

(1) n-1

| (2) n+1

(3) atleastn
(4) at the mostn

| 112.

113. If A is a square matrix such that
Ak=0,then] + A + AZ +
equal to

(1) I-A

2 I+A

@) a-Ay!

? 4) (1+A)!

+ Ak—l

114. The rank of matrix on pre-

multiplication with a non-singular
matrix :

(1) Remains same

(2) Increases

(3) Decreases

(4) Cannot be determined.

115. Ifx-3y+z=-1
2x+y—4z=—
6x—Ty+8z=1,

then

(1) x=3

2 y=2

2y =1

4) z=-1
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116. x> —x + 11 = 0 %1 HIcs g 6T &
neg feag ?
(1) -1<x<0
() “D<x<
(3) 3<x<-2
(4) 4<x<-3
117. 999 %0 & o1 g A, B a1 C %
fow afk AB = AC = B = C ¥aat asft
EId1 & Saie
(1) |Al=0
(2) |1A[=0
(3) AR R |
(4) ATHII R |

118. U fqwn wufia =g & T 9ATcHS

qUITH I e e ST 2
(1) wmftg g
(2) Toww emfia g

(3) [F AR
(4) THTE TR

A A T n A 1 SFohaui @il e
2, dl Jadj A| ST R |

(1) AP

@) AP+t

3) |1aPr-!

4) njApP-!

. afe gt e

3x-2y+z=0,

AX—14y+15z=0

X+ 2y +3z= 0 TS §A & A A I
LIEE

(1 5

(2) 23

3) 29

«(4) 0
INDIRES

OUR SUCCESS

119.

PARTNER

&

i
i
|
i
i
E
i
i
i
H
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116. The negative root of x> — x +

117:

118.

119.

120.

lies between

(1) -1<x<0
(2) ~D &g
(3) 3<x<-=2
@) ~4LE<-3

For square matrices A, B and C of the
same order if AB = AC = B = C holds
only when

(1) |A[=0
(2) 1Al#0
(3) A is any matrix.
(4) A is null matrix.

Even positive integral power of a
skew-symmetric matrix always gives
(1) Symmetric matrix

(2) Skew-symmetric matrix

(3) Null matrix

(4) Unit matrix

If A be a non-singular square matrix of
order n, then [adj Al is equal to

1) A"

@) |Ap*!
3) |Ap-!
(4) njAP-!

If the system of equations
3x-2y+z=0,

Ax—14y+15z=0

x + 2y + 3z = 0 have a non-trivial
solution, then value of A is

(1) 5

(2) 23

3) 29

@ 0
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o
indiresult.in whatsapp - 9352018749 GJ ' !N [ .I UFAE“$ ULTE
121. AfE T

D

i 121. If the roots of the equation
W -6x2+3x+10=0

2 —-6x2+3x+10=0 ; _ _ _ _
e T 5. % ;rlz rlcr:m;&ralrt:metlcal progression, then
1) 1,2,3 ; a 1,2,3

@ -1,2,5 i @) -1,2,5

(3) -3,0,3 % (3) -3.0,3

@) -2,0,2 : 4) -2,0,2

122. When a, # 0 the condition in order that

122, THHW o + 32,02 + 3ax +a;=0H
Tt e gt ue ww wr faelfia s
@Qﬁ%,aﬁiﬁaoato,%:

the second and third term may be
removed simultaneously from the

equation

(1) aoaz—a%=0 agx> +3a,x? + 3ax +a; =0, is

i
(2) agp, —a§=0 : (1) aﬂaz~a%=
i —a2=
(3) 2aja, - af = | (2) aga;-a,=0
i =
(4) aga, - 2a§ =0 E () 2292 a; &
| (4) aja; —2a5=0
i
123. af§ A TH 2 x 21 SgoRwoNa ST=E @, | 123. If A is a 2 x 2 non-singular matrix,
@l adj (adj A) = | then adj (adj A) =
) A L A
& & ENCRS
(3) —A i ) _f‘
2 | 4) A
4) A |
|
; z . | cos@sin® |.
124, 3TSE A = i::ls(:fl% ilgfeil b ; 124. The matrix A = [—sin . 0} is :
) SR ; (1) Hermitian
| (2) Symmetric
(2) wHid !
. ‘ (3) Orthogonal
(3) e i
! (4) Singular
(4) IrHAE '

indiresult.in whatsapp - 9352018749

; 32 00
@!m IRESULTE

SUCCESS PARTMNER



o
indiresult.in whatsapp - 9352018749 6{//’ INDI T

L5 F g 5.8 0
125. =g A=| 3 5 0|%: | 125. Thematrix A=| 3 5 0] is:
1 2 -1 i 1 2 -1
(1) eifees | (1) orthogonal
) e ? (2) involutory
(3) alfzmﬁﬁ % (3) nilpotent
(4) afEm ! (4) idempotent
126. FHEHRMF AR 126. The following equation has roots
W+5B P4 +2=0 X+ 53 -3 +7x+2=0:
(1) &9 o-TeHsh, g TS a1 IR (1) Three positive, two negative and
Heus four imaginary.

(2) U™ GTcH 9T I SKUTHS (2) Five positive and four negative.

(3) & YATHS, dF RS aUT I)
BTk

(4) |t arafaes gaTES £ |

(3) Two positive, three negative and
four imaginary.

(4) All are positive real.

127. afg a5k 1 wfleo p = (W) a1 aehan 127. If equation of curve is p = f(¥), then
e (p) SR R } radius of curvature (p) is equal to :
@) p+ g:i,% | ) p+ (%21,%
G) p+t gd% G) pt gd%
4 pfé}% (4) p(%i%

128. 56 xX(y2 + x2) = a2(x2 — y?) & 128. The number of asymptotes of the

STEaER & TE R | curve, x2(y? + x2) = a’(x? — y?) are
(1) = { (1) four

) @ ; (2) three

(3) @ | (3) two

4) ﬁ oft sraersft 78 % I ' (4) No asymptotes.

M indiresult.in whatsapp - 9352018749
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129.

130.

131.

q&nZO?ﬁJI(y—x)“ f(x) dydx
TR R :

b
1 ' .
M) 737 G+o™ ) de

b
1
@ 1 f (a+x)™! f(x) dx

b
1
G) T3 -2 ) de
b
1
@ =7 | G0 ) dx

%ﬂr=acos@‘T{J J 12 dodr W%

a3

(D

mw

~
(\)
~

a3

3)

al

“4)
T x(:2 + y2) —ay? = 0 % ey anadi %
FHMTR 31 i B

(1) yta=0

2) x+a=0

(3) y-a=0
4) x-a=0

(% INDIRESULTE

Yo

uuuuuuuuuuuuuuuu

v s—— s e v Arsas—. Vet omn iy
S — T A——. TE———. WD T——— N

34

YOUR SUCCESS PARTHNER

%,
- @ INDIRESULTH

129. If n > 0, thenf f (y = x)" f(n) dydx

a a
equal to :

b
M =7 G+ ) ax

b
@ 7 @ror R d

b
0) =7 | G- ) ax

b
1
@ =% 1J (b—x)™! f(x) dx

a

130. Over the area r = a cosO, the

f J 2 d0dr equals to :
) 5
@ 3
G 5
@ 54

131. The asymptote parallel to co-ordinate
axes of the curve x(x2 + y2) — ay? = 0,
is

(1) y+ta=0
2) x+a=0
(3) y—-a=0

4) x-a=0
indiresult.in whatsapp - 9352018749
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132. SohaT g i FagTY T
(1) =TT
(2) TAM
(3) 5

(4) I

133. r(z+%)|_(%—z)€mﬂﬁ%:
(1) msinnz
(2) mcosec niz

(3) mtannz

(4) msecnz

134. AfGu=1log (3 +y3 + 23 - 3xyz) !

0 0 6)(6u ou auj

('6;4-54-5;
(D) 3et
(2) 3u

2
(x+y+z)?

€)

“) 0
135.

T i TGP AT B, df a 1 UM &
() 3
@ 4
(3) 6
@) 7
%lNDlRESULTE

uuuuuuuuuuuuuuuuuu

=9
ox Yoy * Z7)

af¢ B fir) = 262 + 3x + 5 HoW
I [1, a] B x = 2 W AT GLHH

" T — T———— PO T—————— WA Y. T (¢ W SaAes Teni it

35

132.

133.

134.

135.

uuuuuuuuuuuuuuuuuu

The locus of the centre of curvature is
called

(1) Envelope
(2) Cardoid
(3) Evolute
(4) Cycloid

The value of|— (z +%) |— (%— z) is:
(1) msinnz
(2) mcosecnz

(3) mtannz

(4) msecnz

Ifu=log (x3 + y3 + 23 — 3xyz), then

(g+_<9_+g)(au+ au+ au)—‘?
N\ex "oy az)Fax Yoy T Zaz)

(1) 3¢*
@) 3u
9
® Gy
4 0

If the function fix) = 22 + 3x + 5

satisfies mean value

theorem at x = 2 on the closed interval
[1, a], then the value of ‘a’ is equal to

1) 3
(2) 4
(3) 6
4) 7

Lagrange’s

indiresult.in whatsapp - 9352018749
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13

13

138.

k.
L]

6//}‘

1
s.avﬁ3

(x > 0) UER 3, Al¢
(1) x>3
) <3
(3) x<2
4) x<1

7. G 3 +y3 — 222 + 6y = 0% A Toig W

ashal s B
(1)
@)

3)

Rl Rw = =

4

wft x e R 3 for wm o flx) = 2 - 25);

R W Fo forgall i we, J@l { &= |

T HH UTH AT ], B

(M
)
3)
)

32

J.J-xy (1 +x+y)dydx%‘f!=|ﬁ%
01

~

(1) 203

3
@ 255

3
(3) 303

(4) 353

NDIRESU

OUR SUCCESS FARTNlR

i
i
i
i
|
i
P
i
i
1
i
H

|
|
|
i
{
i
|
a
:
!
i
{
i
|
?
!
|
|
i
i
?
|
|
z
|
¥
1
i
i

36

i 136.

I 137.

: 138.

| 139.

indiresult.in whatsapp - 9352018749

(#)NDiResuLTE
R ol
The series3+3¢+ 43+ ET
... (x> 0) is divergent, if
(1) x>3
(Z) x<3
(3) x<2
4) x<l
The radius of curvature at the origin
for the curve x3 +y3> —2x2 + 6y =0is
1
(M 3
1
& 5
3
G 3
@ 3

Let Rx) = \x2 - 25] for all x € R. The

total number of points on R at which f
attains a local extremum is :

(1) 2
(2) 3
(3) 4
“4) 5

32

The value offjxy (1 +x +y) dydx

01
is:

(1) 203

©) 25%

@) 303

3
4) 357
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140.

141.

142.

3 f(x) = £0) + x£'(0) + = £(0x), A

2
SEx— 1L, fx)=1+1-x)24d 0%
CIERS

9

9

9
@ 5
Jeehel GHTehTol
yzlogy:xypwz(PE%)
F1EA 2
(1) logy=cx+c?
(2) logx=cy+c?
(3) 2logy=cx?+c?
(4) 2logx=cy?+c?

d? d

aaaaa—crﬂtﬂwﬁazxuaxz_y:x%r
1 o=y g9ihat &

m e(1-3
(2) ¢ [l +i—]

37

140.

141.

142,

(#)WoiResuLTE
If fx) = £(0) + xF(0) + % £(0x),

2

then the value of 6, when x — 1,
fx)=1+(1-x)2,is:

&)

(1)

)

5o

9
G) 19

9
) 5

The solution of differential equation
y? logy =xyp + pz( E%)%] is :

(1) logy=cx+c?

(2) logx=cy+c?

(3) 2logy=cx?+c?

(4) 2logx=cy?+c?

The particular integral of differential

d? d
equationxza%+xaf_—y=xzexis

o eft-d
e
0 (i)
0 «fi:)

indiresult.in whatsapp - 9352018749
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2y .4
143. 3awd HTﬂEI-T(UTd—x%—z&‘YC':e”Sinxaﬂ
oy TR B

er
(D) —5 Cos X

c,\‘
S COS X
2

)

e .
—5 sinx

3

X

(4) % sin x

37731 3Taeher aHiwl
(y—x)(qy—px) = (p—q* FEA
(1) z='\{_axy+a(x—y)+c

144.

(2) z=axy +ax+y)+c
(3) z=a(x-y)+fax+y)+c
4) z=a(x+y) +faxy +c
145, 3IAdshd HWW(%TIZ (%)”2 + 4
EARIGH
(1) 3
@y 2
3) 6
(4) TTa & T |

et arEee GHieRtor Rl "M@ T
ft =t el W™ @k % T i
wq § (rEeEf)m = (sieE)” i

0<n<m,m,n,%n ‘{\UTH%

Oy
(2) m—n
(3) m+n
(4) mn

%INDIRESU

YOUR SUCCESS PA

146.

RTNER

INDIRESU

THER

| 143. The particular integral of differential
i 2
; . R AR e
i equation 75 - 2dx =e'sinx1s
| s
| (1) — 5 cosx
e_\f

(2) 7 cosx
| e
i 3) —5 sinx

(4) 3 sinx
! 144. The solution of partial differential
| equation :
I .
(y-x) (@ -p0)=(-is:
| (1) z=+faxy +a(x-y)+¢
i
l () z=\/_axy+a(x+y)+c
| (3) z=a(x—y)+ax+y) +e

(4) z=a(+y) +ary +e
| 145. The degree of the differential equation
i 2.,\3/2 12
s Eyy _(dy ;

[dxz) _(dx) S

1) 3
| 2 2
| 3) 6
| (4) Cannot be determined.
|
| 146. What is the degree of the differential
| equation for a given curve in which
; (subtangent)™ = (subnormal)” in
i Cartesian form, where 0 < n < m,
% m, n, % are integers
B
| M) 5
% (2) m—-n
i (3) m+n
? (4) mn
38 indiresult.in whatsapp - 9352018749 co
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147. z = (2 + a) (y2 + b) ¥ TqE X areht
ATRIH IrThet GHIEHT 8
(1) z=pq
(2) ptq=4xyz
(3) pq=4xyz
(4) px+tqy=z

d2
mﬂTﬁﬂWd—xzer a’y = cos ax I

T foei w9 B

148.

X .
——sin ax
2a

(D

= .
2asmax

()

—X
COS ax
2a

3)

x
—COS ax
2a

(4)
IR 3Tdehal GHieRtul

Xy —z2)p + ¥z ~ x)q = zx —y) Bl
9F A &

(1) ¢(x+y+zxyz)=0

(2) ¢(x-y+zxyz)=0

3) ¢(x+y+z,$)=0

149.

(4) ¢(x+y+z,%)=0

150. x dx+ydy +z dz = 0 feg i1 <6t wem

Shife it tahet Tl 2
(1) T dregast
(2) T SAfauaers
(3) T TE
° (4) THET

# WoiesuLTe

S ———— PSR SRARRSERER AR L e SR TR e sl SR @ Al S e

w
w

147.

148.

149.

150.

() oiresy
Partial differential equation satisfied
by z=(x2+a) (y>+b)is:
(1) z=pq
(2) ptq=4xyz
(3) pq=4xyz
(4) px+qy=z

RTNER

A particular integral of the differential

2

equation y=cos axis:

A
sSin ax
2

(1

-x .
= sin ax
2a

)

-X
= Eos.ax
2a

3)

X
P 47 2 Lo
2a

“

General solution of the

differential equation

X(y =2)p + y(z—x)q =2z(x—y),is:
(1) ¢(x+y+zxyz)=0

(2) ¢x—y+zxyz)=0

®) dxty+egy)=0

partial

@) ¢(x+y+z,%)=o

x dx + y dy + z dz = 0 is the first order
differential equation of :

(1) an ellipsoid

(2) ahyperboloid
(3) a paraboloid
(4) asphere

indiresult.in whatsapp - 9352018749
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151. If y(x) is a solution of the differential
&y
equation i) + 4y = 2¢%, then

indiresult.in whatsapp - 9352018749
&y
151. zr%aﬁaa'atr:ﬂamdx2+4y=2e*aﬂ

‘qa:' gl Y(X) %s ?ﬁ li[:lm e y(x) =

|
i
!
!
2 i lim e y(x) =
2 | M 3
@ 7 2
2 | () 3
) 5 i 2
2 L O3
@ 3 ;
: : @ 3
152, m:ﬁw%.}.}i _ 2w ey | 152 The solution of the differential
X i d
y=lﬁﬁx=la531?1ﬂ?faﬂ‘% ! equation a% + ‘;i = x2, under the
1) dxy=x%+3 : condition that y =1, whenx=11is:
(1) 4xy i y
(2) dxy=x3+3 i (1) 4xy=x*+3
(3) 4xy=x-3 ’ () 4xy=x3+3
4) dxy=x*-3 (3) 4xy=x-3

@) 4xy=x*-3
153. 3Nk 3Tashal FﬁﬁEF(UTxux=u+yuyﬁ

Wuz%%mnéwmﬁﬁ

W
153. Using the transformation u =y in the

partial differential equation xu_=u+ yu,,

FUffRTT % U BT w T €9 2 the transformed equation has a
. solution of the form w =
@ w=13) m w=i})
) w=1(xy) 2
() w=fx+y) T e
4) w=fx—y) i (B) w=fx+y)
i (4) W= f(x - Y)
154. wfoe u(l, y) = y I G A el ; 154. The integral surface c;' the 8;;Jartia]l
du ; - !

SRR e THIHL x%é—k ya: 0 differential equation x a + yg =

T TITHS 8 7

(1) uee,y) =%

(2) ux,y)=y+x-1
2

3) e V=527

satisfying the condition u(l, y) =y is
given by :

(1) (e y) =7

(2) uCx,y)=y+x-1

x4+ 1] u(xSY):x+l
. @) w5y @ w9 =Goy
F” INDlRESULTE indiresult.in whatsapp - 9352018749
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1 s+a _
155. L7 log (s T b) =3
1
(1) ? (e—at . e—bt)
1
(2 ) —t- (e—bl _ —al)

(3) % (eal _ cbt)

@) 1@ -en)

156. Afe F(s) = F{f(x)} =ﬁf e f(x) dx
1L, x| <a
fﬁf(x)-{m e[ >a 1 R T
g
(1) ?\%coss&

157. 2F, (1, 1; 2; —x) SR &
(1) log,(1+x)
(2) log(l-x)

log (1 +x)
G 7%
log (1 -x)

x

Q)]

. S
(1-2xz+7) 2= % 2" p,(x), TQ
(1) |x[<1,]z|>1

158.

;

i
!
3
i
!

A —— . ——- " Syt S areb WALLS . 18 e s TS TSR g. . SAa . W

S
vy

155.

156.

157.

158.

g sta) _
L liog(Ser)—?
1
) fle-et
(2) % (e—bl f e—at)

G) y(et—et

1
(4) (e

a
If F(s) = F{f(x)} 5 f el f(x) dx

then Fourier transform of

. L, (#2548, _
)= 0. lx|>als'

(1

COS sa

2=

@ -

COs Sa

5

sSin sa
S\\T

(4) _?\IQ_ sin sa
T

2F, (1, 1; 2; —x) equal to
(1) log,(1+x)
(2) log,(1-x)
log (1 +x)
G 75
log (1 —x)
x

G)

4

I oo
(1-2xz+2%) 2= % 2" p,(x),if:

(1) |x[=1,]z][>1
@) |x|z1,]z]| <1
(3) |x|<1,]z| <1
@ [x[=1,]z|<1

indiresult.in whatsapp - 9352018749 a
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159. f[P'n(x)] 2x ST 8
=]

() (n+1)
2 (n—-1)
(3) n(n+1)
(4) n(n-1)

lim J“(x)

x>0 X'

160.

|
() 20 (n+ 1)’“>_1

2|'|
2) [m+1) » Bl

1
®) F—n ">

21’\
(4) —f(n— 1) n>1

161. 2F, (a, b; c; 1) %1 AH 8, 5@l a, b, ¢
B SR Berd & ST 31ET

Iql %1 TG0 T &, &

1 [(©)f(c—b-2a)
() r(c—a)]_(c—b)

[(c)
) ['(c —a) r(c -b)

[(c—a—b)
3) r(c —a) r(c -b)

. (4) T &1 T T |
(#)INDiRESULTE

i
i
|
|
i
;
a
|
|
|
|

o
2]

159.

160.

161.

1

j [P! (x)] 2dx is equal to —
-1

() n+1)

(2) n-1)

(3) n(n+1)

(4) n(n—1)

T, ()

lim o equal to

x—=0

1
(1) m,n>—1

21’1

(2) m,m—l
1

® 3 a-1n """

2[’1
4 Ta- 12" !

The value of 2F, (a, b; ¢; 1), where
a, b,

condition

¢ follow wusual convergence

of the hypergeometric

function, is

) [@fe=b-a)
M Te-a)l(c-b)

[(c)
2) r(c —a) r(c -b)

[(c—a—b)
3) '_(c —a) r(c —b)

(4) Cannot be determined.

indiresult.in whatsapp - 9352018749 00
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162.

163.

164.

165.

forsg wgmal & o Pyx) + 2P, (x) T
LICK

1) 2

2) 4x+5

3) 3%

4) 0

/2
IHA el & forg j\ln_x 315 (2x)dx T
0

HqH 8
(1)
(2)
(3)

4

N B =

b
SHA B & %quo(x) J,(x) dx W
LIEk
(1) Jg(a) +J§(b)
1 )
S0 - T@]
Jo(@) + J(b)

1 2
Sl@ - o)

)
3)

4

e ST G il Y 8 :
2 1

T 1+ p?

(D

i
i
i
!
i
H
|
!
i
!
i
!
|
|
i
|
§
!
E
|
¢
|
!
;
z
:
!
i
!
i
|
i
|
|
i
|
|

S

43

IRE

SUCCE

162. For Legendre polynomials, the value

163.

164.

of Py(x) + 2P,(x) is :
(1) 2x

(2) 4x+5

(3) 3x?

4 0

For Bessel function the value of
2
f\/ExJI,z(zx)dxis:
0 _
(1) 2
(2) 1
3) 4
7
O%
For Bessel function, value

b
jJU(x) J,(x)dxis:

(1) Jg(a) i J{z)(b)

1
@) 3[13(6) - T3(@)]

(3) Jo@) +Ig®)
@ 3 @- 7o)
. Fourier cosine transform of e™ is :
o b
@ \[372
® \2Tr
RN
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166.

167.

168.

1

e T G AT
(spr=aT) W\/%e’P 2, d Hod
" 1 W (<) WA R

Ife wed f(x) =

HTAF R

Jn+3+‘]n+3

2
(D) ;C”(xth!;)JnJr3
2
(2) ;(n+5)]n+5
G) o+,

(4) %(n+2) L

t et sin! ST ATATE TYTL & :

2p+ 1)
(P> +2p+2)°

2(p—1)
(»*-2p+2)

2(p + 1)?
(* +2p-2)°

2(p— 1)?

(M

()

€)

166.

167.

168.

@ woiResy

PAR

5
cosine transform of

T
is ’\/% eP, then the

Fourier sine transform of

2

3)

If Fourier

1
Lt 1+x?

132 8

=P
i

@) Ze?

Value of J_ , y+1J, 518

2
(1) S0+3)7,45

) %(m 5)J

n+5

2
(3) Zn+4)J

n+4

@ 20+2)7,.,

Laplace transform of t e sin'is :

2(p+1)

) P2+2p+22

2(p—-1)
® -2+

2(p + 1)
) 52 +2p- 27

2(p—1)?
@ pr+2p+2)

indiresult.in whatsapp - 9352018749
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169. feetfem sraavm g3 # wqd we #

(#)WoiResULTE

| 169. The fourth term in  Stirling

. X=X interpolation formula is
Siglu = i X=X,
where u = h
a3,
(1) u— Ay
A M e
y—1
(2) u A,
u? ’ (%) u_kf—]-
B) T—AY, 2
12 (3) T A%,
i 2
@) A%, 2
2 @) 1A%
2
170. ﬁmﬁ@aﬁqmqﬂaq S9HE qg=9 170. Which of the following set is not

TR 7 : convex set ?
(1) {(x,y):2<4x?+3y?<12} (1) {(x,y):2<4x?+3y?<12}
(2) {(x,y):x2+y2<36} ) {(x,y):x%+y*<36}
B) {tny):y*2x) (3) {(xy):y?=x}
@ {(xy):x*<y} @) {(ry):2<y)
171. T3 el W femm Hifore - 171. Consider the following statements :

I.  Every hyperplane is a convex set.

BT | ) II. Intersection of two convex sets is
. € 3E9E Tg=R[ @ TaHE Th not a convex set.
HIHE H‘gﬁ'ﬂ‘—!’é’fﬁm% | III. The set of all feasible solutions of

any linear programming problem
is a convex set.

1. fordt as g goen & auft
gETd gl *1 9= Uh TOgE

Which of the above statements are

Wﬁm%l correct ?
SRR YA H B B FH I | (1) TandII
(1) 17l (2) 1l and I1I
(2) Haurlil (3) IandIII
(3) 1@l

(4) Fgasft L, 11 qe 1l (4) All of these (I, IT & I1I)

172. 4f¢ n HRial & 98T m %™ (n < m) &,

172. If there are ‘n’ workers and ‘m’ jobs

s e W i Wilri Wopabesiebi % s e bir Tt ey Sirmiret

A 3 31frs T i fpaY THR A B (n £ m), then maximum number of
T solutions may be
' (1) m!
8 3! 2) n!
(3) (m-1)! 3) (m~=1)!
. 4 (m-1)! 4) (n-1)!
(//'ﬂi)NDIRESULTE 45 indiresult.in whatsapp - 9352018749 O
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173.

174.

175.

176.

@imo

OUR SUCCESS PARTHNER

gfifirg st & fag 7
(™M), _ o =n"—"C, (n— )7 +1C,
+0C_ (-1 g § T

(3) A=m

(4) m 31 n 3 Tt 71 % fore

B f(x) = x° — 2x % BT 2, 4,9,
IO%WWWE{:{‘R%:

(1) 23

) 15

3 1

4) 0

Crfafiad 1 @ HF 91 AV S SUSH TR
2 (AT SRl o H1Y)

(1) VA

2) A-V

(3) 8

4) A+V

b
J f(x)drﬁ%mm%@ﬁ@éﬁaﬁé

T HW & o e [a b] =l

foramfra e B

(1) =M gfl ¥ TuEEn % gt
|

@) @ g % fow @
YT A |

(3)qrm?gtésﬁm:ﬁsﬁé@r%a
IqUe | |

(4)ﬁmﬁ%ﬁé@1%wmﬁl
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174.

175.

176.

I

173. For finite difference the value

(Anxm)x___o =M — “C] (n — ) nC2
(n=2)"+ +0C 1P is valid for

(n, m are +ve integers and interval of
differencing is 1) :

(1) n>m
(2) m>n
(3) n=m
(4) For all values of m &n

The third divided difference with

arguments 2, 4,9, 10 of the function
f(x) = x* — 2x, is

(1) 23

2) 15

3 1

@ 0

Which one of the following is not
equal to AV (with usual notations) ?

(1) VA
(2) A-V
(3) &
@) A+V

Simpson’s one third rule for evaluation
b

of J f(x)dx requires the interval [a, b]

a
to be divided into
(1) An even number of subintervals
of equal width.
An odd number of subintervals of
equal width.

2)
(3) Any number of subintervals of
equal width.

(4)

Any number of subintervals.
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177. 9iEed o & fau & oft onam 81

178. T %o f(x) fSEhl srar groft

179.

180.

3
(1) 3EAHR

(2) g
(3) fwafaas

(4) TAHR

ﬁ'ﬁiﬂﬂ'ﬂ‘%:

fx) | Af(x) | A2 f(x) | A3 f(x)

3

6

11

18

E- NSRS o e I
N [

8]

)

27

%ol I €Y BT
(1) 3x2+3x+2
(2) x2+2x+3
(3) 27x2+9x+2
(4) 11x2+5x+2

T fgelta wma =1 ague s famgat (0, 1),
(1,3), (2, 7) @1 (3, 13) & ToRaT B |

(1) ¥2+x+1
(2) ¥*+x+41
(3) ¥*+5x+4
4) x2-3x+1
A H x=0RAFR :
(1) 6
(2) -6
G3) 5
-5
) 5

@

| 177. All the basis for transportation

i
!
i
H
i
|
¥
i
!
i
|
|
!
£
i
i

178.

179,

180.

47

problems are :
(1) Rectangular
(2) Triangular
(3) Hyperbolic
(4) Circular

For a function f(x) the following
difference table is given as under :

x [ f(x) | Afx) | A2f(x) | A3 f(x)
0| 3

1| 6 3 |
2{ 11 5 2 0

31 18 7 2 0

4| 27 9 2

The form of the function is
(1) 3x2+3x+2

2y 2?4+ 2x+3

(3) 27x2+9x+2

(4) 11x2+5x+2

A second degree polynomial passes
through points (0, 1), (1, 3), (2, 7) and
(3, 13). The polynomial is :

(1) x2+x+1
2) x¥2+x+41
(3) x2+5x+4
4) x>-3x+1

The value of A2x3 atx =0 is :
() 6
(2) -6

3
3) 3

-5
4 7
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